11/2/22
SteelCo Buildings, Inc.
P.O. Box 1447
Covington, GA 30015
Ph: 678-212-2190

Re: 20’-0"x100’-0"x8°-6” — Bunnlevel, NC 28323

This letter is to certify the above referenced building will be designed in accordance with the
applicable sections of the American Institute of Steel Construction (AISC) and the American Iron and
Steel Institute (AISI) design procedures and good engineering practices for the following loads.

Loads are applied in accordance with the 2018 International Building Code.

Building is to be erected in accordance with “FOR CONSTRUCTION” erection drawings sealed by
R. Keith Joyce.

Building construction type — Type IIB Noncombustible

Dead Load........ccooviiiiiiiiiiiiia Metal Building Materials

Wind Speed........coovviiiii 119 mph (3 sec gust) Exposure “C”
LiveLoad.........ooviiiiiiiiiii e 20 psf

Collateral Load...........coooviiiiiiiiiian 0.5 pst

Roof Snow Load.............oooiiiiiiiiin, 7 pst

Ground Snow Load....................ool 10 psf

Seismic Data: N.A.

The buyer is responsible for insuring all specified loads are in compliance with local regulatory
authorities. This letter of certification applies solely to the steel building system and its component
parts and especially excludes any foundation, masonry, general contract work, or parts supplied by
anyone other than SteelCo Buildings, Inc.

R. Keith Joyce, P.E. is not Engineer of Record for overall project.

Respectfully,

R. Keith Joyce, P.E.
Engineer




100°'-3"

ro’-1 1/2"

N

OUT/0uT

OF SLAB

=1 1/2™

20'-3"

OUT/OUT OF SLAB

FOUNDATION PLAN

SCALE: 1/8" = 1'-0"

S—1

1 N

s 8
g 7 > O
7 © ‘ ° n
W A 4" CONCRETE SLAB ON GRADE W/ ] ol
S 1 N 6X6XW1.4xW1 % W.W.F. AND v Q o
5 S—1 6 MIL. POLY. VAPOR BARRIER Q5
Y | N NS
5 = < = 3
© o = - = | = = o ©

A S S 3 S 3 N

° o

52
\o'—1 1/2" 100" 5" o'-1 1/2")

R
Elo <
- " A4 2 — #4
/ 3" CL.
1'-0" | 6
SECTION 1\
SCALE: 3/4" = 1'-0" S—1
—
o
- 2 - #4
3" CL.

SECTION

SCALE: 3/4" = 1'-0" S—1

GENERAL NOTES

-—
.

CONTRACTOR SHALL BE RESPONSIBLE FOR BRACING ALL WORK DURING CONSTRUCTION.
FOOTINGS ARE DESIGNED FOR AN ALLOWABLE BEARING CAPACITY OF 2000 P.S.F.

CONCRETE SHALL HAVE A MINIMUM 28 DAY COMPRESSIVE STRENGTH OF 3000 P.S.l.
WITH A 4" MAXIMUM SLUMP. DETAILS NOT SHOWN SHALL BE ACCORDING TO
ACl 318 AND ACI 301 SPECIFICATIONS FOR CONCRETE CONSTRUCTION.
— REINFORCING STEEL SHALL BE ASTM A-615 GRADE 60 (TIES MAY BE GRADE 40)
— W.MW.F. SHALL BE ASTM A-185
— MINIMUM LAP: 4 — 28"
5 - 32"
— MINIMUM COVER: 3" U.N.O.

4. C.J. ON PLANS INDICATE CONTROL JOINT 1/8" x 1" DEEP SAWN WITHIN 24 HOURS
AFTER PLACING CONCRETE. METAL JOINT MATERIAL MAY BE USED.

5. FOUNDATION BASED ON REACTIONS FURNISHED BY STEELCO BUILDINGS, INC.,
DRAWING NO. 22-32641, DATED 11/01/2022.

@« D

11,/09/2022

/,

N\ [} XX 7,
\\\Y“ o’ *ee, %z
S N
NN

BN RN [J %
SSES N2
STes De Tz
e 1) ° =
- e = o =
-0 e =
7 o T
20 S
G %, 3
2, ®oo
7/,
//,

P.O. BOX 28
COVINGTON, GA 30015
PH: (770) 786-3163

C.H. MOSS, P.E.
SOLE PROPRIETOR

BY

REVISION

NO|DATE

LH
HM

.
.

22—32641

3
3

NOVEMBER 9, 2022
1/8" = 1'-0"

COMPUTED BY
DRAWN BY
CHECKED BY
SCALE:

JOB NO.
DATE

RANDALL BROYLES
BUNNLEVEL, NC

FOUNDATION PLAN FOR

DRAWING NUMBER

312

SHEET OF':

S—1] 1



AutoCAD SHX Text
SHEET    OF:

AutoCAD SHX Text
DRAWING NUMBER

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
COMPUTED BY:

AutoCAD SHX Text
CHECKED BY:

AutoCAD SHX Text
DRAWN BY:

AutoCAD SHX Text
JOB NO. 

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
DATE

AutoCAD SHX Text
NO 

AutoCAD SHX Text
BY

AutoCAD SHX Text
REVISION

AutoCAD SHX Text
3124

AutoCAD SHX Text
S-1

AutoCAD SHX Text
1

AutoCAD SHX Text
LH

AutoCAD SHX Text
HM

AutoCAD SHX Text
1/8" = 1'-0"

AutoCAD SHX Text
NOVEMBER 9, 2022

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
S-1

AutoCAD SHX Text
3" CL.

AutoCAD SHX Text
SCALE: 3/4" = 1'-0"

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
1

AutoCAD SHX Text
MIN.

AutoCAD SHX Text
GRADE

AutoCAD SHX Text
2 - #4

AutoCAD SHX Text
%%uGENERAL NOTES

AutoCAD SHX Text
4.  C.J. ON PLANS INDICATE CONTROL JOINT 1/8" x 1" DEEP SAWN WITHIN 24 HOURS

AutoCAD SHX Text
    AFTER PLACING CONCRETE.  METAL JOINT MATERIAL MAY BE USED.

AutoCAD SHX Text
1.  CONTRACTOR SHALL BE RESPONSIBLE FOR BRACING ALL WORK DURING CONSTRUCTION.

AutoCAD SHX Text
2.  FOOTINGS ARE DESIGNED FOR AN ALLOWABLE BEARING CAPACITY OF 2000 P.S.F.

AutoCAD SHX Text
3.  CONCRETE SHALL HAVE A MINIMUM 28 DAY COMPRESSIVE STRENGTH OF 3000 P.S.I.

AutoCAD SHX Text
    WITH A 4" MAXIMUM SLUMP.  DETAILS NOT SHOWN SHALL BE ACCORDING TO 

AutoCAD SHX Text
    ACI 318 AND ACI 301 SPECIFICATIONS FOR CONCRETE CONSTRUCTION.

AutoCAD SHX Text
    - REINFORCING STEEL SHALL BE ASTM A-615 GRADE 60 (TIES MAY BE GRADE 40)

AutoCAD SHX Text
5. FOUNDATION BASED ON REACTIONS FURNISHED BY STEELCO BUILDINGS, INC.,

AutoCAD SHX Text
                     #5 - 32"

AutoCAD SHX Text
    - W.W.F. SHALL BE ASTM A-185

AutoCAD SHX Text
    - MINIMUM LAP:    #4 - 28"

AutoCAD SHX Text
    - MINIMUM COVER:  3" U.N.O.

AutoCAD SHX Text
DRAWING NO. 22-32641, DATED 11/01/2022.

AutoCAD SHX Text
22-32641

AutoCAD SHX Text
11/09/2022

AutoCAD SHX Text
FOUNDATION PLAN FOR:

AutoCAD SHX Text
BUNNLEVEL, NC

AutoCAD SHX Text
RANDALL BROYLES

AutoCAD SHX Text
SEAL

AutoCAD SHX Text
11066

AutoCAD SHX Text
%%UFOUNDATION PLAN

AutoCAD SHX Text
SCALE: 1/8" = 1'-0"

AutoCAD SHX Text
S-1

AutoCAD SHX Text
3" CL.

AutoCAD SHX Text
SCALE: 3/4" = 1'-0"

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
2

AutoCAD SHX Text
MIN.

AutoCAD SHX Text
GRADE

AutoCAD SHX Text
2 - #4

AutoCAD SHX Text
OUT/OUT OF SLAB

AutoCAD SHX Text
S-1

AutoCAD SHX Text
2

AutoCAD SHX Text
OUT/OUT OF SLAB

AutoCAD SHX Text
OUT/OUT OF SLAB

AutoCAD SHX Text
OUT/OUT OF SLAB

AutoCAD SHX Text
S-1

AutoCAD SHX Text
2

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
1

AutoCAD SHX Text
S-1

AutoCAD SHX Text
1

AutoCAD SHX Text
S-1

AutoCAD SHX Text
4" CONCRETE SLAB ON GRADE W/

AutoCAD SHX Text
6x6xW1.4xW1.4 W.W.F. AND

AutoCAD SHX Text
6 MIL. POLY. VAPOR BARRIER

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.


N\ 4 C\‘ N
N
STRUCTURAL NOTES =
BUILDER / CONTRACTOR IS RESPONSIBLE FOR ENSURING THAT PLANS AND SPECIFICATIONS COMPLY WITH g EE
APPLICABLE REQUIREMENTS OF ANY GOVERNING BUILDING AUTHORITY. =
METAL BUILDING STRUCTURE DESIGNED PER THE FOLLOWING LOADING:
100°—0" STEEL DIMENSION o
CODE: IBC 2018 - — Sl
WIND: 119 MPH EXPOSURE C WINDLOAD (10) 10'=0" BAYS
ROOF LIVE LOAD: 20 PSF ROOF LIVE LOAD B N
SEISMIC DESIGN CATEGORY (SDC): B / SEISMIC COEFFICIENT: 0.22
GROUND SNOW LOAD: 10 PSF (MAX) GROUND SNOW LOAD o
ROOF SNOW LOAD: 7 PSF (MAX) ROOF SNOW LOAD 5 . o o o o S|~ O
COLLATERAL LOAD: 0.5 PSF (MAX) COLLATERAL LOAD 25 (U204 o (U204 o o (Cujaoi-4 o o (Gu2o-4 o o (GuRo-4 . 4ls = |
ole (Emio-2 (EF)10°=2 (EF)10°—-2 (EF)10°—-2 (EF)10°=2 (EF)10°—-2 (EM)10°=2 (EF)10°-2 (EF)10°—=2 (R0 -27  o'S /\ )
DESIGN LOADS DESIGNATED WITHIN CONTRACT AND DRAWINGS DO NOT ALLOW FOR ANY TYPE OF | [ | | | | | | | | | [ | o — S
SUSPENDED SYSTEM (E.G. LIGHTS, INSULATION, DUCT WORK, PIPING, ETC.) GREATER THAN THE _ : | | | | | | | | | . — S Ol
COLLATERAL LOAD SHOWN. SUSPENSION OF ANY LOAD INDUCING SYSTEM GREATER THAN 0.5 PSF ) | | | | | | | | | | R ) 2 21
IS EXPLICITLY PROHIBITED UNLESS A CORRESPONDING REDUCTION IN CERTIFIED LIVE/SNOW LOADS CAN % = | | | | | | | | | 2 % o 1%
BE PERMITTED BY CODE. Z| ¢ B : : : : : : : : : E L Z . %
= = o
DESIGN AND SPECIFICATION OF BASE STEEL TO CONCRETE SLAB ANCHORING IS NOT THE RESPONSIBILITY = © ! ! ! ! ! ! ! ! ! o= ~ S} =
OF THE BUILDING MANUFACTURER. WEDGE ANCHORS SUPPLIED WITH THE BUILDING PACKAGE ARE 5 N | | | | | | | | | S ﬁ . Ol=
SUITABLE FOR MOST SELF STORAGE APPLICATIONS HOWEVER, THE FINAL FOUNDATION DESIGN (DEPTH, N I E-———————-—l———————-——:——————-———:—————--———:————-—————:———-——————:——--——————:—--———————: : © I N _—— %
STRENGTH, MIX, ETC. ) WILL DETERMINE ACTUAL ANCHOR REQUIREMENTS. )5 ) | | | | | | | | | - L v .
vl - ™ — 7 L
BUILDING MANUFACTURER ASSUMES NO RESPONSIBILITY FOR CONCRETE SLAB FOUNDATION DESIGN, . . N : : : : : : : : : P S ) ~
THICKNESS, MATERIALS, SITE SOIL CONDITIONS OR OTHER CONCRETE/MASONRY CONSTRUCTION. o| o™ iy - | | | | | | | | | N o > .= . )
| ol = o | N L %
R = - . o O o
ALL STRUCTURAL CONNECTIONS ARE TO BE MADE PER FASTENING DETAILS PRESENTED HEREIN. ALL o 5 = : : : : : : : : : = o ) = mizg9%§%j
STEEL FRAMING AND SHEETING MATERIALS MUST BE INSTALLED TO VERTICAL PLUMB AND HORIZONTALLY N ) | | | | | | | | | = N N < 5g§fufz%<@.
o N [
LEVEL. I I | | | | I I I I | I I E & 3%85%@@52
—— o o o o o o o o T o —~ O =
THE BUILDING MANUFACTURER AND THE PROFESSIONAL ENGINEER SEALING THESE DRAWINGS ARE NOT mg (ED10-2 o (ED1=2 (EF)10°-2 o (@2 (ED10°=2 G R (ED10°=2 o (E10=2 (ED10°=2 o o=t gy \/ = ﬁm‘zgigilgé
THE PROFESSIONAL ENGINEER OF RECORD FOR THE ENTIRE PROJECT. THE PROFESSIONAL ENGINEER'S o8 (GU)20"—4 (GU)20"—4 (6U)20°-4 (CU)20°—4 (6U)20°=4 8|2 = | JE2BE5hza
SEAL PERTAINS ONLY TO THE STRUCTURAL DESIGN OF THE METAL BUILDING SYSTEM. IT DOES NOT APPLY o > | 2RI°LEE535
TO THE FOUNDATION SYSTEM, MASONRY DESIGN OR ANY OTHER ASPECT OF THE PROJECT UNLESS (10) 100" BAYS | TQzwn ©0od4
SPECIFICALLY STATED IN THESE DOCUMENTS. — — e T R T Tt
L O ==z > -
100'—0" STEEL DIMENSION o Ué:ggé@&%%
—= — an L= Z = X
O E©§>§wgﬁ P
JOBSITE FIELD CONDITIONS NOTES: o | wESISPwpind
mﬁ[ oY i%m
BUILDING MANUFACTURER ASSUMES NO RESPONSIBILITY FOR ANY LOADS TO STRUCTURE NOT INDICATED o | 228385, FEa
AT THE TIME OF PURCHASE. ANY ALTERATIONS TO THE STRUCTURAL SYSTEM, REMOVAL OF ANY Z | 8,8222=235"
COMPONENT PARTS OR THE ADDITION OF OTHER CONSTRUCTION MATERIALS OR LOADS MUST BE DONE Zf _3°uwyz359
UNDER THE DIRECTION OF REGISTERED ARCHITECT, CIVIL OR STRUCTURAL ENGINEER. = ?ﬁ;{g% IEZ=
— ¥ L O >
- o L <
ALL CONCRETE AND MASONRY CONSTRUCTION MUST BE FLAT, LEVEL AND SQUARE PER THE SLAB PLAN K Y P LA N Zz | S 50 NEo,u
L W=y z0 >0
DIMENSIONS HEREIN. | BEBEEEZQZ28
o | Bp8iEez258
ALL JOBSITE DIMENSIONS AND CONDITIONS SHALL BE FIELD VERIFIED BEFORE ERECTION OF BUILDING scale—1/8 =1-0 Z | F3=szu5xxsS
O DO m
STRUCTURE. S re T3
D
ALL OMISSIONS, CONFLICTS AND DISCREPANCIES SHALL BE REPORTED TO THE BUILDING MANUFACTURER g
BEFORE PROCEEDING WITH PROJECT WORK. r )
ALL TEMPORARY SUPPORTS SUCH AS GUYS, BRACES, FALSEWORK, CRIBBING, WINDBRACES OR OTHER o
ELEMENTS REQUIRED FOR THE BUILDING ERECTION ARE TO BE DETERMINED BY AND SUPPLIED BY 100°—=3" SLAB DIMENSION
BUILDER/CONTRACTOR. : 1 1/27 - - 1 1/27 2
N — —— QY
BUILDING MANUFACTURER HAS MADE A COMMITMENT TO MANUFACTURE QUALITY BUILDING COMPONENTS ~ 9 1/2” X 1 1/2" ~
THAT CAN BE SAFELY ERECTED. JOB SITE SAFETY INSTRUCTION, SAFETY EQUIPMENT AND CONDITIONS ARE DOOR EDGE NOTCH
THE RESPONSIBILITY OF THE BUILDER/CONTRACTOR. o o
5
ALL COMPONENTS SHIPPED SHALL BE THOROUGHLY INSPECTED AND ACCOUNTED FOR AT THE TIME OF ] : : : : J : : : : : \ N
DELIVERY. ALL MATERIAL SHORTAGES OR DEFECTS MUST BE REPORTED WITHIN FIVE (5) WORKING DAYS % | | | | | | | | | I
OF MATERIAL DELIVERY TO THE BUILDING MANUFACTURER. _ | I I I I I I I I _ &N
5 | | | | | | | | | o O
THE DIAPHRAGM SUPPORT OF THE INTERIOR PARTITION PANELS CONTRIBUTE TO THE STABILITY OF THE 0 I I I I I I I I I % N
BUILDING BY TRANSFERRING LATERAL LOADS TO VERTICAL RESISTING MEMBERS. ANY MODIFICATION OR =z ., ., | | | | | | | | | ) ) z I
UNAUTHORIZED CUTTING OF INTERIOR PARTITION PANELS IS EXPRESSLY PROHIBITED BY THE BUILDING = 11/27 X 1 1/27 ——= I | | I I I I I I -1 1/2" X 1.1/2 = 00
MANUFACTURER. = WALL EDGE NOTCH | I I I I I I I I WALL EDGE NOTCH = O @N
- | | | | | | | | | - .. -
8 T T T T T r = - - T T T T T T T T T T T i | i) Z
INSTALLATION_NOTES: . | | | | | | | | | . o O
: ) | | | | | | | | | wn
FIELD CUTTING OF STRUCTURAL, SHEETING AND TRIMS FOR SPLICE AND FINAL FITTING OF COMPONENTS " - | | | | | | | | | 2 o — |
| | | | | | | | | 5 Q
IS REQUIRED. N | | | | | | | | | L5 ) X — —
© | | | | | | | | | o <
ALL ROOF PANEL LAPS SHALL BE SEALED WITH 3/8” (MINIMUM) WIDTH MASTIC TAPE AS PROVIDED FOR N | | | | | | | | | ~ @ ) -
PROJECT. ALL SHEET PROFILE FOAM CLOSURES AT EAVE, WALL AND RIDGE CONDITIONS AS PROVIDED I | | | | | | | | | I — O] —
FOR PROJECT MUST BE INSTALLED AS SHOWN HEREIN. | . . . . N . . . . ! ' i O v
” 1
WALL PANELS AND WALL TRIMS, AT INTERIOR AND EXTERIOR, ARE TO BE SET WITH 1/4” CLEARANCE . \ 5 § ) an < =
ABOVE CONCRETE SURFACES AND AT ANY LOCATIONS WHICH MAY BE SUBJECTED TO CONTACT WITH o 11/27 9 1/2” X 1 1/2 1 1/2” o ®
STANDING WATER. ~ DOOR EDGE NOTCH ~ —C
LAP ALL FLASHINGS 2” MINIMUM AND SEAL AS REQUIRED FOR WATER TIGHTNESS o 100'—3" SLAB DIMENSION o @) —
ALLOW 1/4” TOLERANCE AT EACH END FOR HEADERS AND GIRTS. N D
1 |LEAD SHEET, GENERAL NOTES, SCHEDULES, KEY PLAN, SLAB PLAN (P4)  _ 242516R 2 1/2 X 4 X 2 1/2 X 16GA ZEC T oor PURLN
2 |ELEVATIONS (P414)  —  742514R 2 1/2 X 4 X 2 1/2 X 14GA. ZEE ~  ROOF PURLIN scale—1/8"=1-0
O _|FLOOR PLAN, FRAMING PLAN (P6) ~ ZB251BR 2 1/2 X 6 X 2 1/2 X 16CA. ZEE — ROOF PURLIN
4 |PARTITION PLAN, ROOF PLAN (P614)  —  Z62514R 2 1/2 X 6 X 2 1/2 X 14GA. ZEE — ROOF PURLIN
S |DETAILS (P8) ~ 7Z8251BR 2 1/2 X 8 X 2 1/2 X 16CA. ZEE —  ROOF PURLIN
6 |DETAILS (P814)  —  782514R 2 1/2 X 8 X 2 1/2 X 14GA. ZEE — ROOF PURLIN o
/ |DETAILS (P10) — Z102516R 2 1/2 X 10 X 2 1/2 X 160GA. ZEE —  ROOF PURLIN ( )
8 |DETAILS (P1014) —  Z102514R 2 1/2 X 10 X 2 1/2 X 14GA. ZEE ~ — ROOF PURLIN
(P12) ~ Z122516R 2 1/2 X 12 X 2 1/2 X 160A. ZEE ~ — ROOF PURLIN CosURE o
(P1214) —  Z122514R 2 1/2 X 12 X 2 1/2 X 14GA. ZEE —  ROOF PURLIN (68) INSIDE CLOSURES INCLUDED FOR LOW EAVE. @ .
INSTALL BTR TAPE ON TOP AND BOTTOM OF INSIDE
ERECTOR NOTE: CLOSURE (SEE DETAILS AND INSTALLATION GUIDE) O
A DETAILED INSTALLATION GUIDE IS AVAILABLE AND SHOULD BE | | (14) INSIDE CLOSURES INCLUDED FOR BASE OF Z To)
CONSULTED DURING THE ERECTION OF THIS BUILDING PACKAGE.| | EXTERIOR WALL PANELS - py
STANDARD ABBREVIATIONS FASTENER ABBREVIATIONS PLEASE CONTACT US IF YOU HAVE NOT RECEIVED A COPY OF ' =
THE INSTALLATION GUIDE AND ONE WILL BE PROVIDED TO YOU. (14) OUTSIDE CLOSURES INCLUDED FOR RAKE. N < 8 8
AFF ABOVE FINISHED FLOOR FT FOOT OR FEET REQD REQUIRED . . < -
WPEROY ARPROYIMATE e SENE REINFORCED (F1) —1/2” X 2 3/4” CONC. EXPANSION ANCHOR  — BASE TO SLAB CONNECTIONS _ —(® I ?.:’) N
BLDG ~ BUILDING GA  GAUGE RO ROUGH OPENING (F2) —12 X 1 SELF-DRILLING TEK (PLTD) — STRUCTURAL STEEL CONNECTIONS 47 STRUCTURE ABBREVIATIONS SHEETING ABBREVIATIONS TRIM ABBREVIATIONS @ Z 35°a
BLK BLOCK GALV  GALVANIZED SECT SECTION = By
F2) —12 X 1 SELF—DRILLING TEK (PLTD — PARTITION SHEETING m <
BOT BOTTOM GC  GENERAL CONTRACTOR  SF SQUARE FOOTAGE (F2) (PLTD) (BA) — B4216Z 4 X 2 X 16GA. ANGLE — FLOOR BASE ANGLE (ML)  — 29GA. M—LOC WALL PANEL (BTR)  — 7/8" ROLL MASTIC (IN) — R PANEL INSIDE CORNER TRIM a o s9
c/L CENTERLINE GRND GROUND SIM SIMILAR (F4) — 12 X 2 SELF—=DRILLING TEK (PLTD) — PARTITION ANGLE CONNECTIONS (BC) — U425167 4 1/8 X 2 7/8 X 16GA CHANNEL — FLOOR BASE CHANNEL (RL) SOCA. R—LOC WALL PANEL @ - @) C-,CIX\)
CLG CEILING CR GRADE SU - SQUARE (F5) —12 X 1 1/4 WASHER TEK (PTD) — EXTERIOR WALL SHEETING (C4) — C4216R 4 X 2 X 160A. CEE ' 47 COLUMN ' (BT) Cooee (48)  ~ DOOR JAME TRIM D o § ©
CoL COLUMN GWB  GYPSUM WALL BOARD STD STANDARD : (PL) — 29CA. PANEL-LOC WALL PANEL (CLIN) — R PANEL INSIDE FOAM CLOSURE (JC) — DOOR JAMB COVER TRIM o)
CONCRETE HORIZ HORIZONTAL STL  STEEL (F6) —12 X 1 1/4 WASHER ZAC (PTD)(PLTD) — ROOF SHEETING - g m
CONC (C425) — C42516R 4 X 2 1/2 X 16GA. CEE 4” COLUMN (RR) — 26GA. PBR ROOF PANEL O
CTR CENTER HT HEIGHT TOB TOP OF BEAM (F7) —12 X 1 1/4 WASHER TEK (PTD) — EXTERIOR TRIM DRILLER B B . : (CLOUT) — R PANEL OUTSIDE FOAM CLOSURE (MC) — DOOR MULLION COVER TRIM
DBL DOUBLE INSUL  INSULATION TOC TOP OF CONCRETE (C435) — C43516R 4 X 3 1/2 X 16GA. CEE + COLUNMN (RW) — 26GA. PBR WALL PANEL
DIA BIRAAMWE‘TNEGR IJNTFO IJNOF‘CN)$MATION %W ISEEOSFTEWEALLL (F9) —12 X 7/8 WASHER ZAC (PTD)(PLTD) — ROOF PANEL LAP (DJ) — C43516R 4 X 3 1/2 X 16GA. CEE — DOOR JAMB (cL1g) - %;L?A?O%EFNTPRAANLEILOC SSR (DK) —  DOWNSPOUT WITH KICK OUT (OU) — R PANEL OUTSIDE CORNER TRIM
Bme DIMENSION MAX MAXIMUM P TVPICAL (F10) —12 X 7/8 WASHER TEK (PTD) — EXTERIOR TRIM LAP (EC) — U4216R 4 1/8 X 2 3/8 X 16CGA. CHANNEL — EAVE CHANNEL (CL24) — 24GA. CENTRAL—LOC SSR (DSS) —  DOWNSPOUT STRAP (PB) — PEAK BOX
DR DOOR MIN  MINIMUM UNO  UNLESS NOTED OTHERWISE (F11) = 1/8 POP RIVET — EXTERIOR TRIM (ES) — EB4316LR 4 X 6 X 3 X 16GA. STRUT - BAVE STRUT 24” ROOF PANEL (EF) — EAVE FLASHING (REND) — RAKE TRIM END CAP . )
Eﬁ EEEVHM‘ON M‘TSLC M‘ESTCAELLLANEOUS %ET %E‘%AL (F13) —12 X 1 1/4 WASHER TEK (PTD) — INTERIOR WALL SHEETING <EC> T AS MANUFACTURED — FLOOR CuP (FRC) - FORMED RIDGE CAP (RT)  — RAKE TRIM ) .
— C4216R 4 X 2 X 1BCA. CEE — CIRT
EXIST  EXISTING NIC  NOT IN CONTRACT VIF VERIFY IN FIELD (F13) =12 X 1 1/4 WASHER TEK (PTD) — INTERIOR TRIM DRILLER EHi> A L o L (GE) — GUTTER END CAP () = ROOF TIE IN TRIM DWG#22—32641—CL1
EXP EXPANSION NTS  NOT TO SCALE WO WITHOUT B B - ‘ - B L
EXT EXTERIOR NA  NOT APPLICABLE WT  WEIGHT (F14) =12 X 7/8 WASHER TEK (PTD) INTERIDR WALL PANEL LAP (HR) — C4216R 4 X 2 X 16GA. CEE —  DOOR HFAD REINFORCEMENT (CEOCEL) — SEALANT (TR) ~ — ROOF STEP TRANSITION FLASHING ’
EIFS EXTERIOR INSULATION NO  NUMBER (F14) =12 X 7/8 WASHER TEK (PTD)(PLTD) — INTERIOR TRIM LAP (JR) — CB2514R 6 X 2 1/2 X 14CA. CEE _  RAFTER (GS) — GUTTER HANGER STRAP (UN)  — FLAT RIDGE CAP ( )
oo éggEF‘ONF‘SgLASgSTEM 8é %ERCAELNLTER (F17) = 1/4"=14 X 1”7 SDS W/ WASHER #1(PLTD) — ”CL” CLIP/STRUCTURE CONNECTIONS (M)  — C12416R 12 X 4 X 16GA. CEE —  DOOR MULLION (GU) —  GQUTTER (4SP) — 407. TOUCH UP SPRAY PAINT S h o @t
50 FURNISHED BY OTHERS of  OPPOSITE HAND (F18) —1/4"—14 X 1 1/4” SDS ZAC W/WASHER #1E(PTD)(PLTD) — ”CL” ROOF DRILLER (MC) — BB5216R 5 X 2 X 27 LONG 16GA. ANGLE — MINI CLIP (HC) —  DOOR HEAD COVER TRIM
FDN FOUNDATION OPP  OPPOSITE (F19) — 14 X 7/8” SDS ZAC W/ WASHER #4(PTD)(PLTD) — "CL” ROOF LAP (PA) — B4216R 4 X 2 X 16GA. ANGLE — PARTITION ANGLE (HE) _ DOOR HEAD TRIM N /
= FINISHED FLOOR PTN  PARTITION o . o B ) - N
on CE OF BLOCK OF BRICK AL RADILS (F20) —1/47=14 X 1 1/4” SDS ZAC W/WASHER #1E(PTD)(PLTD) — "CL” TRIM DRILLER (RA) B4216R 4 X 2 X 16GA. ANGLE RAKE ANGLE (H) . HIGH EAVE TRIM
F0S FAGE OF STEEL REF  REFERENCE (F21) — 14 X 7/8” SDS ZAC W/WASHER #4(PTD)(PLTD) — "CL” TRIM LAP (RS) — EB4316LR 4 X 6 X 3 X 16GA. STRUT —  RIDGE STRUT I OIC 8




4 J 2 N & 4 N 4 N
. ¢ —
J1vd Ad HO04 dINSSI SINIH ANYW3A_ NOJN 03NYNI3Y 38 LSNA S31d00 SIADIUUN 0612-212-8.9 -
\ \ Qm Zoi%QDK%mZOQ TV ANV INIGWNNDOO0AJ SIHL "H3dNLOVANNYIN ONICTING ¢ m &)
cc/ 10/ 1| JHL NOYS NOISSINYIG NILLMM LNOHLIM S103r0Nd GL00E VO UOIDUINCD | 00O
AT LONYLSNOO OL d3sn 39 1ON AV SONIMVEJ . Xoqa "0 ~—
3STHL "QILGIHOYA ATLOMIS SI SNOSYId 3IZIMOHLNYNN ) Z Q 7%<Q QJ Lyl X08°0'd ~ P
Ol SONIMVHO 3JSIHL 40 FINSOT10SIa IHL "LI43N3g : ¢ % R —
Sl 404 d3SN 39 AINO AV SONIMYYA 3SIHL NI ONI s©ONIA1iNgd ) . O
JANIVLINOD NOILYANYHOANI TYILNIAIANOD ANV ‘dI9oTNARG X X f
TAILLISNAS HIYNLOVANNYWN ONIOTING FHL 40 Al¥3d0dd @ o @ O O ﬁ O N @ @@ N
AANISNTOXE ANV JT70S dHL JIV SONIMVYSD ISIHL MU.N S 2
. (@)
NOILYIWHOANI ASVIFIEH0Hd ANV IVIINIAIINOD . HQ m ﬁ) Q & & M
\. J U J \\ \. J J
p
) > <
(B2
= EII5
-E
ColL
Iolic
=55 3
62 8y N
°f: 5% N
we gE o
gge gt N
22 8 S
- )
= ~
e o
—
““Q‘nw ““Q‘“w
v w v) w
o W o [
= /¢ 9-.8(n0) Y #/¢ 9-.8(no) — - M
[ 5/t o 10w % ‘ ——— .9—.8
L0—.,(CIno _ | .0—.£(21n0) ; : O
S/C 9- LMY _ v/ 97 ) _ I_ m %
I ) &Y IS = —
FH || I | | | —
e oo k=] | = /e o= ik | | 1= q] —
. . M% IE&@ - J/¢ 9—.8(my) A
= | R H(
y () (_ F/2 9= (M) _ (_ O __
/89—, LMY %, _ v
6 10n0) _ sEwACzZI | IR £ (510) = 2/\ 8- 8m)
SENACZASTIN | R /S 9= 1 0n) | O W
b/S 9— 1 (MY) _ _ I_ = L01—.8(my) _
) . e RO RNIION | I 2 — Z/1 -8y :
/S 9= 1My m% = | mm = L] . n fU
) " = F/€ 9= 1Y) _ = % 01—.8(my) -
/29— 1 (_ = O, -
gl : _
o _‘
- .0—.L(YZON) F/e 9= im) | L0—.L(¥ZON) , /L a8 | I
J/S 9=, L) _ © ! P
| | | 00
_ F/€ 9= 1(my) | _ o /¢ 9—8(My) || o
. It
e s a8 O
of ¢ e Of ¢ 5 T T 1
) = RV ERICION | S = v % — |
J/e 9= 1) I Il = e u R
N IH{ T )
e o () _ F/C 9= Limy) | _ B o —
/e 9T .0—.L(¥ZOI) _ H .0—.L(vzom) Ll— 9 o
J/C 9= 1 (M) ~
F/C 9=, L(my) _ | I,_ “
nE - iE "
- — F/€ 9= 1(my) - =
w/e a—aom) 2] | Q 2] | S _
= 1|
= J/C 9= 1(md) I Q
e _ 6—..(30) v‘ _ _ O—LCON) | L) >
CEWACZASTD | KR A F/S 9= () | o T -
— F/C 9= L(MY) _ — _ I_ S
O ol v O 1 Aﬁ S
A @ = J/C 9= 1 (M) et W
SRR ZIEENTCON | S NN Z 1S = v =
W WW ] W 2/2 9—, L(my) _ WW ] =1
T « . T ™~
Ol /e 9- () (_ O _ H_ m =
Sl
o 0—.2(¥ZOW) : | /€ 9 (my) _ 0—.L(¥ZOW) E ol
bl v/ 9 my) . o " O © x|
7 ) 2 7 i L) 3| 3
1 — F/C 9= 1Y) A — <
- 2/ e= ) ll5fe — . InE i
O 5 L [l O IHES]- L [l =
1] (@ o
R m% = M . R /2 9 1imy) | M% = R ) &
= F/C 9 1my) M_W Q B 9 == w <]
© = - | <L
J/E 9= L) 6-.2(5/0) N e _ O LN 6- £(30) E N
0—7Gcom ||«° [ | _ 6 |
J/C 9 1(Me)
/S 9=, L(MY) _ F 0} _ I_ R o
- .
Mm,u - B v/e 9= 1(MY) _ Hm,u — -
/e om0 15 | S ) R IS SN ©
| R S— | =
(_ © J/€ 9= 1imy) _ (_ 2 “
F/C 9 1MY) %) _ %)
o IRORWACZACIL) /e a— 1w | 0—.L(¥ZOW) -
F/€ 9= 1 (MY) _ _ |_ «I T
L] I 1 ) e
e p/€ 9= ) ISe 2 W N
/e o=l ekl || ks | | = qﬂﬂﬂﬂﬂﬂn Q
SR - ]|
== F/E 9= L (MY) _ =E3 B/C 9= 8(My)
F/€ 99— 1(MY) _ _ H_ W 1
0—.L(¥ZON) /2 9= | 0. (¥ZON) 2 2/ 50w | ]
J/8 9= 1(MY) K _ .0—, W
|| |
_ b€ 9= L) | _ = L0L—.8(My) v
F/C 9= L(my) z,wu | H,m,u ) |
o | | = el | | = — 2/L 11— 8(n) L1
ol | T /€ o=l IS | L . . )
F/2 9=y [[IHE _ i — L -
H_ = ) LOl—.8(my) |
F/€ 9= 1(my) _ _ . "
F/C 9= 1(my) 6—.2(310) | 0— LHZON 6= 1(50) b __ o
0—Zon) || _ o f Z/1 8=8(My) I
J/€ 9= 1) |l - |
#/8 9-.1(my) _ | I_ N _ 2
.zr,m,u _ Jém,u /¢ 9—8(my) || B
- L /29— 1 - =
F/E 9= L(MY) m% =L / e _M% = e L[
i & =S S -
e o L (m) _ F/8 9= 1(MY) _(_ > - L
/79T LMY L0—..(Z1n0) _ L0—./(ZLND) ®
! —_——— | vV v/e omnn) || - —
; /2 9-8(n0) s «v/€ 9-.8(n0) W8
e - - = o)
= =
M| o
:@‘nmw :@‘“mw "



bsutton
Stamp


4 J a N\ a N\ a N 4 N\ 4 N\ 4
EIRAC A8 d404 dINSSI SINIEd "ONVW3A NOdN G3N¥NI3¥ 38 1SNW S31d0D “lTarnSIuuUN 0612-212-8.9 —
. _
TV ANV INIWNOO0A SIHL "H3¥NLOVANNYA ONIGTING .
ce/10/ 11| O3 NOILOMNILSNOO JHL WOY4 NOISSINYID NILLEM LNOHLIM S1O3r0¥d m N m @ N Q Z 7 7 m GL00E VO ‘ucjbuino) T 0O
37 LONYLSNOD OL G3SN 38 LON AW SONIMYAA . Lyyl X089 'O'd < e
ISTHL "Q3LIGIHOMD ATLOIMLS SI SNOS¥3d A3ZIMOHLNYNN ) Z Q 7%<Q QJ ~ QO
OL SONIMYYQ 3SIHL 40 IWNSOTOSIA IHL “LI4IN3G . . - e
SLI 404 @3SN 39 AINO AVA SONIMYYA 3SIHL NI ONI SONIATINg N W, O
GINIVINOD NOILVWHOANI IWIINIAIINOD ANV ‘a39F AN |
JALISNIS “H3UNLOVANNY ONIGTING FHL 40 ALYIS0Nd @ — @ X Q Q ﬁ X Q N @ @@ N -
JAISAIOX3 ANV 310S FHL MY SONIMvAA 3STHL o ) Y
. &)
NOILYWHOANI ASVLIIMA0dd ANV T¥IINIAIINOD 40O A =
\, J \\ J \ J \\ J \\ J \ J \
p

Amgod zl /1] (34015 ZL ¢ N\ﬁv

Amgoﬁ zL /L] [3401S 2L ¢ N\ﬁv

=
<
(AR
NOISNAWNIQ 1331S ,.0—,0¢ o
g
- — - - oD
NOISNIWId 133LS .0—.0¢ SAVEe ,.0—.0¢ W m,u
v
~ - S — GEZ
SAvE ,0—.0¢ Or | .0v | .0y | Oy O |.Ov oL °
Z =
S S IS B U I o o I o L NI
Ov | .0v| .0y .0y | .0V . 0F NI NN v Ra R Y Ouw A
e T A o4
— ™~ o3} — - o ~ L Ll 02
N o,o I o,o T o,o N o,o 0 i
: OO i ™ - o) - o~ 9w i R ™
~ O O OO RO )
- /¢ e-6ilve)  '» cogded e e e e
[ [ [ - _ _ _ _ _ = | | [ [ [ L=8F0) |5 _r _r i 4 4 g _t=8(0) | |
o | | | | | w ‘ .8/L @\.@QQV” | | ! | | - .8/, 9-28(ra) |
: S P R R e A B B
- - o o) o) o
JU | | | | | JU O _ | | | | | _ O
, I 7 | I |
- | | -
m 1 1 ! 1 1 m 00 _\// 1 1 ! 1 1 ,_\// 00
” | ” : I
A _ _ ! _ _ < 1 .8/ 9-.8(ra) & _ _ _ _ _ S .8/L 9-8(ra)
A ) § i ‘ 0 (g
B DSVERNY | S )I|n_II|n_NI|n_NIﬁ EENPNT L~ 8(¥0) q.II_rIII . ILII, IILII -840
| i Tm Tm O N N L | o O S B B Y -
o re ot e e > I .8/, 9-.8(ra)= LS P> > S - .8/L 9-28(ra) |
I U TS | S I
wO - | | ! 1 1 — wo S " _,o,o _,o,o H_ ,o,o_ ,o,o_ " S
| _ | o - R I - o
- N f | O &) &) &) | f
© ! ! ' ! ! O 78 ~ " T 1 't i T 7@0
. I . S
4 A ! ! ' ! ! N _ Y 8/¢ @Jwﬂav(a ! ! ! ! ! _._(:w\m 9-.8(ra) |
M M
B SN ||_u|||_u|||n_|||n_|||n_||kﬁ — e /—.8(¥0) .....||_.,|||_.||L||I“_||,I“_||.... /—.8(¥D
i %% ey ey - 1O e 2 \ B 100 IR < Cell o (+2)
o _ = _ = _/F\ _@ _@ o I .8/ 9-80r@), _W _V N _ V_ W_ =, .8/2 9-.8(ra) |
MO = | | _ 1 1 Lz wo - W _,7, _o,d MW_ o,d_ ,7,_ y -
o] 1 o S N E R T - A o
L 1 - L N ] 1 L i W,||| _/W\| _@\,lll‘lL/wﬂM\_ |”PW_ |||W, i
O _ _ o O e ~ - ~ e
— = — - 1 =
= 1 1 1 1 [} 1 1 B 1 1 [}
N _ _ _ _ _ N Y .8/¢ @Jwﬂav(a _ _ W_ _ _ _._(:w\m 9-.8(ra) |
M M
L\T — g o= o= \T_\ £=.8(¥0) T T T e T T T T L —.8(¥0)
| S S R =R [ R , o N Y
[ _ ~ _ = e _( _( o b .8/ 9-8(r0)s, _5 _w Tl w_ 5_ -, .8/, 9—8(rQ) \
. @ | | | | | &) . W __/, _O,J m%/_ 0,J_ 7,_ y
o IR o . S P P A .
f ||||_|||_|||n‘|||_|||_|||l f , 1||||_A|LM,|JIA||L,._|||4_||IIW ,
- —~ - , S (S S S ,
o I = w S N ®
— | —~
A I I _/\ I I N T | | w0 I | T
I ()] —~ [}
N _ _ _ _ _ Ny Y .8/, 9-.8(ra) _ _ 5l _ _ .8/, 9-.8(ra) |
\ W#r | | | | | ;ﬁy | /—.8(+D) 0 | | ~ | | A /- a(y9) M
| O S = e T I I A
= o RS _@ e s > — — I .8/c9-800), A TN IR B s .8/L 9-8(00) | - A
m m [ce]
o : = | | s o - o . ) T N > ) o
g (@) 1 1 _ | 1 O g A_H O g uO — | 0 | 0 /@\_ Q| 0, — uO g
8 @8] @8} = — — —~ —~ = @) ~
zl £ Tttt £ c . z 2] a1 A =
= Mm m <~ | | 1 /m\ 1 | ~ O m Mm = A = Mm o0 ™| 1 1 T 1 1 ™~ 50 Mm > P |
5 3 | I S 5 anly 5 | I B Y 5 :
2 < 2 2 _ ~— — _ 2 ~—
) Of 4 W _ | | | | | _ W ‘ Of O . Of 4 8/L w RMMLWMW o | | /@\_ | | o 8/ A® ,vaJQv | Of o
™ e Sy T 1 = m : m - 5 S e S O e ™
Lul - I 3% O o s O O N | - L] 0 L] - o © < = N @ u - Lul I
O N " 1 O VO VO N O O 1S I~ ~u ~ O
— © S = LR o o > © — S — o I .8/ 9-80r0), O =0 = O .8/, 9-.8(rQ) W = -
s , arl o E - (Y| - % U O . 00
-~ Ve - 1 1 1 1 - Ve ~ -~ Ve a [ [ -~ 1 a Ve -~
B O | O " = 0 w2 0 0 el 5 N ™~
O - ._ _. O o f - - @) - S ._> >_. ey ) o ) =
NN H—— e —t SN ® oo H—— e — - oo —
- O 1 1 &) 1 1 O - O] - -~ - 1 1 - ] ] | -~ - i
O = s = O (@) 0 = | co O
S I T R e 3 | - 3 1 T A B O = S =
— M | | _ | | M ~— 5 ~— 4 :mw\R @\RwAﬁQv(\: | | m\_ | 1 :/D\:w\h @\,@de ‘ ~— ©
M J—
\HT3 % Il_uu)l I_ul)l |n“II|n_NI|n_NI ﬁM\Tﬁ\ g L—.8(¥0) q.II_wIII_yIIJ_IILIILII | .—.8(+0) H
ey A O O > O O ¥ — v = N - i
S R ) [ .8/7 9-8(ra)s, N R T .8/7 9-30a) | Fl°
- e 1 1 | 1 1 2 - . W _,_/, _,o,,v m/_ ,O,J_ ,_/,_ W . @)
5 )] 5 s ST s .
7, 0 S B Pt it B L f 1,||||_W||_M@,|JV |L,.W_|||W.,_||IIH, f
S [ I O & o 1 Y R I w
— o — - N ~
- 1 1 | 1 1 A W 1 1 Wo/_ 1 1 T
4 N _ _ _ _ _ N _ 1 _.8/¢ 9-800) | _ _ Sl _ _ _._/D\:w\m 9-.8(ra) |
M 1 ke
S T —_—tr——p——a———=——=— el (~8(0) WM——p——p—————g—— g —— 1 . -8(0
i o B mA‘@ SEE ? , 4 R R S I S B ol
D © EoE = = > I .8/ 9-80r0), O =0 > O -, «8/L 9-8(ra) |
m 1 1 1 1 m / _7 _OJ B 0J_ 7_ /
IS ~ _ _ | _ _ — a N M _ | _ - ,_ ,_ ) .
@) _ @) = _ 0 w2 w0 w0 _ -
i I [ _||In_|||_ | 1 i i 1 [ _W/yllr |Lﬁw/_ |H/_ -
. — . | &) St =) & | f
& B I T = 00 Jd T Tl " i~ W
— | | = | | ~— = | | iy | | -
. _ & | &
N _ _ _ _ _ N Y .8// 9- wABV/D\ _ _ 3 _ _ < 8/t 9-.8(ra) |
\ W 1 1 |n_ 1 1 W | - ‘ 0 1 1 = 1 1 a — :
. ——t——h——d——d=—=— e (=8(40) et ——fp——fp——A———————— 1 ..-8(0
I O Fl s i | ¢ O P RS s
> N e e > L .8/¢ 9-28(ra), ' LS > S . .8/, 9-.8(rQ) |
m m ~ os) ~
” S N : BN R A N T R B I 8 :
ﬂU | | _ | | JU o _ _m.hﬁ 1o e e _ o
, TS = e s N * I = e *
O 0" <1 _C © uOO | | T | | I uOO
— O ln L — Iy A =~
: RS B N S = - I N e =
g el | Lr—.Cl N3 1 .8/t 9-800) S i Y i i |=.8/¢ 9=8(rq) I
S
B N % II_u|)|_u|)I |n_II|n_NI|n_NI ﬁB\T_\ L=8(+0) | Il_nlll_wll” IIIH_IIW“_II | .2—.8(v0)
I % E | m | m _\PW _m _m % ) L _B _M =1 M_ m_ u
> _ = _ s _( _( > L .8// 9-.2(ra), _5 _1 iy w_ 5_ . .8/, 9-8(raQ) |
m m ~ mo»O/ ~
nO - ! ! _ ! ! — wo IS W __/, _,O,J M_ o,q_ ,_/: y IS
o N o
i B S i = U S E < - B
7O I I Mu/ I I 7O ;i | _n(u\ _p(b\ — m\_ m\_ | ;i
- S T I = I I N ” = T I A = "
~ | ~ z 2 z
o _ _ | _ _ " 1 .8/s 9-8(ra) | Y | | .8/ 9-8(a) Y
4 4 4 = : : : _ = J J 4 4 4 (=8(0) [ _ _ 1 | | d =8G9 J J
s S g TR
OO — 0= == 1| = =] =0 -
mu i e =A== ) R
— (| |- < [ [ —
oo w2 v wl v w|
S 32 35 | 23 23 5
Loy Lov ! .ov oY L0v ! LOb R 1
—~ — Oy oy Oy Oy .OF . OF
SAvg ,0—.01 (2) - _
- — SAvg .0—.01 (2)
NOISNIWNIQ 1331S ,.0—,0¢

NOISNIWIQ 133LS .0—.0¢




4 N\ a N\ a N\ a N 4 N\ 4 N\ 4
J1vd Ad 404 J3Nssl SINIEd "ONVN3Q NOdN Q3NYNL3Y 38 ISNW S3Id0D ‘ IADIUUN 0612-¢lc-8.9 i
. _
TV ANV INIWNOO0A SIHL "H3¥NLOVANNYA ONIGTING .
ce/10/ 11| O3 NOILOMNILSNOO JHL WOY4 NOISSINYID NILLEM LNOHLIM S1O3r0¥d m N m @ N Q Z 7 7 m GL00E VO ‘ucjbuino) T 0O
37 LONYLSNOD OL G3SN 38 LON AW SONIMYAA . Lyyl X089 'O'd < e
ISTHL "Q3LIGIHOMD ATLOIMLS SI SNOS¥3d A3ZIMOHLNYNN ) Z Q 7%<Q QJ ~ QO
OL SONIMYYQ 3SIHL 40 IWNSOTOSIA IHL “LI4IN3G ] . - e
SLI 404 @3SN 39 AINO AVA SONIMYYA 3SIHL NI ONI SONIATINg N W, O
GINIVINOD NOILVWHOANI IWIINIAIINOD ANV ‘a39F AN |
JALISNIS “H3UNLOVANNY ONIGTING FHL 40 ALYIS0Nd @ — @ X Q Q f X Q N @ @@ N -
JAISAIOX3 ANV 310S FHL MY SONIMvAA 3STHL o ) <
. &)
NOILYWHOANI ASVLIIMA0dd ANV T¥IINIAIINOD 40O A =
\, J \ J \ J \\ J \ J \ J \

Amgod zL /L] [3501S zL N\ﬁv

 NOISN3IWIQ 133LS .0-.0C | Amunga 2l 2/

[3401S ¢ ¢ m\ﬁv

SAve .0—.0¢

NOISNIWIQ 1331S .0—,0¢

— q\] N~
n- - QA ™~
L0—.01(vY)

N | N NG L0—.01(v)
[ [ F/_l. _. _. ._ f/“_\ ._ ﬁ“n_\ [ | ! ) o o I
| , ,
I 50 g @
m m m
o | | ! | | =} = = =
A0 b E : wl
0 00 0 00 00 00 00 00 -
| | | | | X | | | | | m
_ _ _ _ _ ™~ o © © © o ~
- N N N N N
e m IRt I T N T
: - > H—=[~— = = = = - I
4 mﬁw?& _ﬁ 4_ 4_ :mu_“w?avu = o o o 2
I o [Pt I Y =
a2 Py pay|(reN ~
1 1 ! 1 1 ALm w w w
o o - Nl —
11— | -
0 | | ! | | © _
e 2
| ! | | o
s _ | NA\E6 (e n --W!|I||I||I||I|II--
. " ‘ ‘q1/ i i )
g mﬁwéiv 1 FERREICED 1t | |
(@]
1 1 ;4 1 1
[e)]
| C =
~E— PPN P R D S ™~ .
% | | Sl= | [ m 0 00 0 ‘© 00 00 -
_ _ = _ _ ~ | K K K | S
S =l gl g g = 5
= - N N N N N _
o £ eslome] o | I I I
T T T ] T ) omr—l——————————— >
: mﬁwﬁ_iv ) :m+w2&.._ S o
1 1 m 1 1 L o m
, =
S| T [ §
1 R [ DUN——— S — NpN——— ———
S | = | 2 -~ 5
| ma )Oio Hu\ | | W
A [al
| 2 | <L
N A R P S DIE: N I f! |
, r ] - H—aq-— - i
4.5~ ﬁ_«\n@ _. R A :mL g(vd)fH H H
= ! ! © ! ! = P = =
© = o)
O mﬁw I N ﬁgw = : S| o)~ o o] © ,
2| o S0 S S S (= - 2| § 4 2 ~| %
~H+—- RN PR S A - R - R
| 2 4 ol= f S % L R L 2 o o % 8ﬂ\ % . L AAM A
M m 1 1 1D 1 1 e M N — M W I L I 1O o m M —
5, [ | e . .| B 5 o=l gl og) =l|E: |1 5
- gi , , < " | o I - - - - -+ - - f
1 s _ _ NDQ/ ¢— ®—ﬁ§vmmv_ \\.._/ 1 ] | s s s s s | _
I e o = e e N ” S S e R R s S S |
W o NH mﬁwo_.iv e | S, 2(VHN o W o B W = — W 00
v~ | S . | v - % 2 ﬁmaw 5 % ~
— ] — = ~—
o| © ﬂﬂ _ mu o ﬂﬂ o : < .
ol < 11| I T S o I N |15 o < | < _ < |
| = 5 T — == T 3 | - | = " |
~ 00 = ~ - 7 - -
O = O ) O o Yo O ©
E | E e E - c E
~ 1 1 = | | ~— — — — .
|| Eleefowe) B | ° | I U I (] ©
4.5 .8(vd) R .5.8(vd)fP O H H O
I G an @ s
| | | | | 0p] A o
11| T - A 115
~HH_ v IS .
@ _ _ © W _ _ S o 0 0 ‘0 0 0 -
- ~ [ K K O | 0
- o o o o o I~
! ! o ! ! N N N N N
= - Py Py Py B B _
s _ _ af e~ @_356_ 0 ! < < & & & N
; ] . | ohr—=—=r—=F—=——=—— o
a mﬁwm_.iv _. . # :inwﬁiv H = —
S e 9
| | = | | = W
IR O 5 -
[e)] 1
o | | 1 | | Q
~H—- I ||n|.|L|| _— -—H5 =
® 4 ol ﬁ 5 =
1 1 RN 1 1 W
I ;
<
! . . al -6 me) h i / 1
H mﬁw?& _ﬂ . 4_ %L_nw?b H i i
o
[ I
o 1 1 | WM/ 1 1 m
~H+—- R PR M IS A, - R
9 n_ ol|= _| © 0 © © 0 0 0 -
! ! nD ! ! S | O | O | ©
_ _ S I _ _ ~ o o o o o P~
= - P Py P B B
< - -
i I I T = Nt A IDLC N S S Y T
_n J u_ u_ o I | e e | e | e | e "
0l.c-.80vd) RS I = ~
_ o | _ 2 o
1 ;7 1 [—

8070
I
[
S
|
i I
|
i
IL)o
L
|
T
|
5070

a8 —10
(3H(M
_7__

N
(c2e
N

(
N
(ES
/\/

L0—.01(vy)

L0—.01(vy)
o To) —

NOISNANIO 1491 ,0—.0¢

0% ov ! Lov Lov ! Lov ! oy

sAvg .0—.0L (2)

NOISNAWIQ 1331S .0—.,0¢




11/2

DOOR OPENING HT.
1/2”

| SLAB DIM.

’
|

STEEL DIM.

!

- -

9 1/2”

|

TV
I
I
I
I
I
I
I

T R

AN
4
A
LN

11/2

(RW) WALL PANEL

(BA) BASE ANGLE

(F2) #12 X 17 SD
(2) PER COLUMN

(CLIN) INSIDE_CLOSURE

FAVE HT.

DOOR EDGE SLAB NOITCH

“_{bfﬁ.

9 1/27 X 1

39

SLAB DIM.

STEEL DIM.

| \/\ |

: <—:—— (C) COLUMN
— ||l |

| |

| | "~

| | o

| | —

|

(F1) CONC. ANCHOR
6” FROM EACH END

AND 36”7 O.C.

WALL EDGE BASE

ANGLE

1/27 NOTCH

FAVE HT.

%}W

D

SLAB DIM. _
[ ~ STEEL DIM. _
Tl_\/\_ﬂ’
1
I |
N Il -
o~ 1 L
= I 3
- ]
]
L [ o
IR
4 < RSN
N : .
//é} aL e,
SN L
/<// -
§>/\\ a .
- J
22 WALL EDGE SLAB NOTCH
1 1/27 X 1 1/2” NOTCH

ROLL—UP DOOR ABOVE

(C) COLUMN

(F2) #12 X 17 sD

CONC. STEP BELOW \;
<
Y
I

(F7) #12 X 1 1/4” SD

24”7 0.C.

BASE ANGLE BELOW

STEEL DIM.

SLAB EDGE BELOW

(CM) CORNER
MULLION COVER

(DJ) DOOR JAMB

D.O. WIDTH

STEEL DIM.

I\(ou> OUTSIDE

CORNER TRIM
(F7) #12 X 1
| 247 0.C.
1"=0"
— 127 CORNER

DOOR_JAMB
O

_4¢7F.F.

//(RW> WALL PANEL

1/4” SD

STEEL DIM. STEEL DIM.
|
(C) COLUMN
L
., —— (ML) T
(F2) #12 X 17 SD— PARTITION L,
(2) PER COLUMN PANEL =
[
(FC) FLOOR CLP————':D¥
gl ) _qﬁﬁ
<74 AA
= N
(F1) CONC.ANCHOR———J/
(1) PER (FC)

3 COLUMN FLOOR BASE CLIF

GIRT LOCATION
(4'=3" AF.F)

-

- (G) GIRT

\\;(MC> MINI—CLIP

STEEL DIM.

(RW) WALL PANEL

(F2) #12 X 17 3D
(4) PER LOCATION

—— (C) COLUMN

TYPICAL GIRT
/

1.1/27

COVER

(F2) #12 X 17 SD —
(4) PER COLUMN

DOOR OPENING
HEIGHT

(BC) BASE
CHANNEL

SLAB DIM.

(MC) MULLION ——==—

STEEL DIM.
~t— (M) MULLION
:N
.

(F1) CONC. ANCHOR —
(2) PER (BC)

~DGE BASE

DOOR
4

ROLL—UP DOOR ABOVE

CONC. STEP BELOW

@

FEAVE HT.

STEEL DIM.

| - ___l"_4#£f.

(ML) PARTITION PANEL

ROLL-UP DOOR ABOVE

(PA) PARTITION ANGLE
(F2) #12 X 171sD

SLAB EDGE BELOW
(DJ) DOOR JAMB A

(C) ICOLUMN

D.O. WIDTH 1'=0"

(DJ) DOOR JAMB

247 0.C.

1'=0" D.O. WIDTH

— g | g —

STEEL DIM.

STEEL DIM.

FRECTOR NOTE:
BASE CHANNEL IS 1/47

CENTER BASE CHANNEL ON CENTERLINE OF BAY.

SHORTER THAN MULLION.

2 24" DOOR MULLION

(F7) #12 X 1

1/4” SD

(MC) MULLION COVER

11/01/22
DATE

FC
BY

CONSTRUCTION
PRINTS ISSUED FOR

\.

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
PRIVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROHIBITED. THESE

DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE

PROJECTS WITHOUT WRITTEN PERMISSION FROM THE

CONFIDENTIAL AND PROPRIETARY INFORMATION
IN THESE DRAWINGS MAY ONLY BE USED FOR ITS

7

BUILDING MANUFACTURER. THIS DOCUMENT AND ALL
COPIES MUST BE RETURNED UPON DEMAND.

100 x 8—0

PROJeCT:

A0
L OCATION:

NC 28525

Sunnlevel,

IeelE

P.O. Box 1447
Covington, GA 30015
678-212-2190

\,

J

- )
DWG#22—32641—CL1
\. J

7

Sheet

\

o of O




(RW) WALL PANEL —m

(F2) #12 X 1 SDA—\\

(2) PER LOCATION

!

(HE) HEAD TRIM

A FASTEN HEAD TRIM W/
(2) (F7) PER PIECE
FASTEN "WALL PANEL

AT 127 o«yj/
(F7) #12 X 1 1/4” SD
(2) PER LOCATION @ CLIP
FASTEN TRIM AT 24" O.C.

STEEL DIM.

=T
T | \
- () \_—,ﬁ\ \
— (]
——=Z . V4 ! !
—--ZZE N | |
I /
| /

(e
e s
e e

TN )

VLo Lo

\ " I \
)

(MC) MINI—CLIP

~— (DH) DOOR HEAD

— (HC) HEAD COVER

(DJ) DOOR JAMB

S

DOOR OPENING HEIGHT

DOOR HEAD
9

STEEL DIM

STEEL DIM

8”7 ILAP

T.0.S. B AN
_____ IR j_______
/’Tm;pr;!\
|
(P4) 4” PURLIN : : (P4) 4" PURLIN
(F2) #12 x 17 sb—— || |
(C) COLUMN {—»:
|
.

47 PURLIN LAP SIDE

15

(RW) WALL PANEL

STEEL DIM.

A
=
(@)
]
L
L
}7
)

CcOL { - —< —— -
= = (2
O ad
B 5 ) (C) COLUMN
) 4 e
% SPE
¢

! G
/1C> WALL

STEEL DIM STEEL DIM

— — —
' (F6) #12 X 1 1/47 ZAC
| //(RR) ROOF PANEL
I4
T()g%jb S
(F2) #12 X 17 sD

(P4) 4" PURLIN
(P4) 4" PURLIN

<« (C) COLUMN

47 PURLIN LAP SECTION

14

STEEL DIM.

—_—

STEEL DIM.

(C) COLUMN
Ry

=

STEEL DIM.

|

(F4) #12 X 27 sSD

(F2) #12 X 17 sD
(PA) PARTITION ANGLE

(ML)
PARTITION
PANEL

STEEL DIM.

/

(ML) PARTITION PANEL

PARTITION

|
'\— (ML) PARTITION PANEL

CROSSING

1

STEEL DIM

STEEL DIM

| et —

1.0.5.

(RR) ROOF PANEL

(P4) 4" PURLIN

(F2) #12 X 17 SD ——
(C) COLUMN

4" PURLIN SIDE

19

STEEL DIM.

STEEL DIM.

B i I I

STEEL DIM.

| (ML) PARTITION PANEL
I////(C) COLUMN

O
©

@ED 4

STEEL DIM.

COLUMN

(F2) #12 X 17 SD

CLIF

12

— — _—

STEEL DIM

STEEL DIM

(F6) #12 X 1

i/f(RR) ROOF PANEL

1/47 ZAC

7

ﬂosyqb — B

(P4) 4” PURLNj_j

(F2) #12 X 17 sSD

+—(C) COLUMN

4" PURLIN SECTION

10

11/01/22

DATE

FC
BY

CONSTRUCTION
PRINTS ISSUED FOR

\.

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
PRIVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED

IN THESE DRAWINGS MAY ONLY BE USED FOR ITS

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROHIBITED. THESE

DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE

PROJECTS WITHOUT WRITTEN PERMISSION FROM THE
COPIES MUST BE RETURNED UPON DEMAND.

CONFIDENTIAL AND PROPRIETARY INFORMATION
BUILDING MANUFACTURER. THIS DOCUMENT AND ALL

7

100 x 8—0
NC 28525

PROJeCT:

A0
L OCATION:

Sunnlevel,

\,

IeelE

P.O. Box 1447
Covington, GA 30015
678-212-2190

J

r~

\
DWG#22—32641—CL1
\.

>

7

Sheet

o of 3




(&N
CONTINUOUS MASTIC NN
AT TOP AND BOTTOM i
OF INSIDE CLOSURE N
O |-
Lo
e
O
| L
9 [
|
DETAIL AT CLOSURE ==
COL PITCHED EAVE CHANNEL WILL @ g D)
HAVE A SMALL PUNCH AT EACH N o
@ END TO INDICATE LOW SIDE. — @
O
STEEL DIM Ol=
- _ I 31/ STEEL DIM. e
- e e (RW) WALL PANEL
| | . J
! ., COL P
EZQ)O#CWQ X 7/8" ZAK —— (F10) #12 x 7/8" sD Q K [z g8 B )
BN ' — EZpnOTwH
(RA) RAKE ANGLE | (CLIN) CLOSURE (BTR) CONT. MASTIC : - %§§555%H<.
(BTR) CONT. MASTIC (F6) #12 X 1 1/4" ZAC T0P ‘AND BOTTOM STEEL DIM STEEL DIM - : | 338s8g.222
f (EC) —— (GS) GUTTER STRAP | E = | oE25552852
T@'Sﬁb _ Nl LN N\ (RW) ROOF PANEL 3 oc. (F6) #12 X 1 1/4" ZAC (RR) ROOF PANEL - (PA) PARTITION ANGLE | 2524850538
* - ﬂ%SmIJOaﬁDD
X $ / - L | g2£x7567 8,9
AL A _ T.0.5. T,O.S‘.é - I— COL - _ _( ’_(_[_ T | L3280E0 12
| L © : o \ g E%EQEU)DEKE
Al g » i (P4) 4”7 PURLIN —={ : \ 0| w383 @mepe
s> P4) 4" PURLIN F2) #12 X 17 SD : 22,8075,
(RT) RAKE TRIM : : (P4) (F2) # /J| D N (F2) #12 X 17 sD = = N5 \(ML) PARTITION PANEL = iaéggggsém
. ) S ) = %%oéggzg%g
(F10) #12 X 7/8” SD | | (F2) #12 X 17 SD (F7) #12 X 1 1/4”7 SD | _ o (F2) #12 X 17 SD 2 EF%§§&§§§§
[0 o | (2) PER EAVE TRIM L — (EF) EAVE TRIM - W = = | E5%.F8.0 5,
- | I MINI—CLIP AT (EC) SPLICE —— % o= S D | wr-80=F252a
—- C) COLUMN C) COLUMN W QUEEZ02
(CLOUT) CLOSURE o () F REQUIRED | (RW) WALL PANEL (C) COLUMN : ?Eg% - R ERCE EEE
- )< = HOZZED%ga
(RW) WALL PANEL —— [l | (C) COLUMN |L>I - (DK) DOWNSPOUT ol | S| EE :
o - w
~RAKE LOW EAVE WITH GUTTER RIDGE — 47 PURLIN WALL WITH PARTITION
1/ 13 19 20
M)
@ N
| .
0O
BN I RN
| .
S
@ ~1o|=
() Cle s
STEEL DIM | o Ol =
STEEL DIM | STEEL DIM D
| - D - C
(F9) #12 X 7/8" ZAK - -
oo RA) RAKE ANGLE | - —
@ (BTR) CONT. MASTIC (RA) a8
(RR) ROOF PANEL |
STEEL DIM. STEEL DIM. /& T.0.S N\ /N I N
U NN oo o e e
[ . \ ( \
{4 < \ IR S l+ 4l
N4 | i
A T | |
: | (P4) 47 PURLIN o : : (P4) 4" PURLIN \ )
- | (RT) RAKE TRIM  (F2) #12 X 17 o - ,
' . , | ) 1Y) ~—(F2) #12 X 17 SD
E (C) COLUMN /(@ 412 X 17 SD (F2) #12 X 1” SD L (F10) #12 X 7/8" SD : :
— | | | 127 0O.C. @ :
%, | | 0
o
1 i { (36" LONG) o (36" LONG) |~ (C) COLUMN . ~So
i s (RW) WALL PANEL | 8 I®S
. o —0 I«
= / X = (C) COLUMN | i) =—— (ML) PARTITION DERE
O PANEL PANEL L . PANEL A @®S5q
) PARTITION | PARTITION | | @:I CBd
m (ML) (ML) o s 5 2 £5
% N N o3
Y ' o \ :
|
| | | |
o
I I
. J
a2 N
DWG#22—32641—CL1
\. J
ok PARTITION TEE 29 ~RAKE 232 47 PURLIN - \
W/ ANGLE BRACE Sheet
4 )
/ ol &




(BTR) CONT. MASTIC
@ PANEL LAP

(BTR) CONT. MASTIC
@ PANEL LAP

3’—0" COVERAGE

B T —

5" 77 5" 77 5" 77 5"

— | -

A

R—PANEL ROOF
—AVE AND RIDGE FASTENING

3'—0" COVERAGE

/‘17017 /‘17017 /‘17017

/F\ﬁp“ /—\ﬁp“

~—PANEL ROOF
PURLIN FASTENING

(F9) #12 X 7/8" WASHER ZAC
20" 0.C. MAX

(F6) #12 X 1 1/4” WASHER ZAC
(6) PER EAVE/RIDGE — PER SHEET

INTERIOR

ROOF PANEL LAP DETAIL
VIEW AT LOW EAVE

(F9) #12 X 7/8" WASHER 7ZAC
20" 0.C. MAX

(F6) #12 X 1 1/4” WASHER 7AC
(3) PER PURLIN — PER SHEET

FRECTOR NOTE:

PARTITION PANELS HAVE BEEN
SUPPLIED TO THE APPROXIMATE
ROOF LINE. NOTCH TOP
PARTITION PANEL TO MATCH
ROOF LINE AND CLEAR PURLIN
LEG AS NEEDED TO CLOSE IN
THE UNIT. PARTITION PANELS
MAY BE BACK LAPPED TO

\ CLEAR PURLINS.

INTERIOR

PANEL LAP DETAIL

_/\_?;,“ ,_\;?_/\_%,ﬂ ,_\;?_/\
\00
paik
1 <
)
L -
= |
| g (
(@)
— COLUMN
}{ (
}{ - (F2) #12 X 17
( SD TEK (PLTD)
: (4) PER COLUMN
C\D PER SHEET
LT (
(@)
g
=
1N
; B ||
T I (
N
-
'

-"é—x/ -"é—x/
1'-0" 1'-0" 1'-0"
(F%) #WZ X 7/8” WASHER TEK e e (F5) #WZ X W/4” WASHER TEK
20" 0.C. MAX (3) PER GIRT — PER SHEET
3 —0" COVERAGE
R—PANEL WALL
EAVE AND BASE FASTENING
10" 10" 1'-0"
(F8) #12 X 7/8” WASHER TEK / [+ === (F5) #12 X 1 1/4”7 WASHER TEK
207 0.C. MAX (3) PER CIRT — PER SHEET

3’—0" COVERAGE

R—PANEL WALL
GIRT AND DOOR HEAD FAS

TENING

M—LOC PARTITION
SHEET FASTENING LAYOUT

11/01/22

DATE

FC
BY

CONSTRUCTION
PRINTS ISSUED FOR

\.

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
PRIVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROHIBITED. THESE

DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE

PROJECTS WITHOUT WRITTEN PERMISSION FROM THE
BUILDING MANUFACTURER. THIS DOCUMENT AND ALL

CONFIDENTIAL AND PROPRIETARY INFORMATION
IN THESE DRAWINGS MAY ONLY BE USED FOR ITS

7

COPIES MUST BE RETURNED UPON DEMAND.

100 x 8—0

PROJeCT:

A0
L OCATION:

NC 28525

Sunnlevel,

\,

IeelE

P.O. Box 1447
Covington, GA 30015

678-212-2190

J

- )
DWG#22—32641—CL1
\. J

7

Sheet

\

3 of O




